
www.vvacademy.com         for free material click  https://www.t.me/+ImPB0BcWstNkY2Nl    9985525552

 
 

  
V V ACADEMY POSTAL GDS/PM/MTS TO PA/SA EXAM PREVIOUS PAPERS  81 

 

JHARKAND CIRCLE- PA/SA EXAM -2020 
(1.) When an un-regd. Article of letter mail is to be redirected, the name of the post-town on it should be 
scored out and the revised destination should be legibly written in 

(A.) Red ink in Hindi (B.) Blue ink in English 
(C.) Red ink in English (D.) Blue ink in Hindi 

(2.) The weight of an un-registered parcel should not exceed kilograms.  
(A.) 4 (B.) 10 (C.) 20 (D.) 35 

(3.) Coin, bullion, precious jewellery, articles of gold or silver and currency Notes, can be sent by the 
Inland Post, only insured.  

(A.) stones  (B.) cloth  (C.) metal  (D.) wood 
(4.) Unpaid articles are not afforded any greater security in transmission over other mail.  

(A.) Insured (B.) Registered 
(C.) Unregistered (D.) Parcel 

(5.) Large letters, which owing to their size, cannot be posted in the letter-boxes, may be received of post 
office.  

(A.) by the post man  (B.) by hand at the window  
(C.) by MTS  (D.) by sorting postman 

(6.) No article will be delivered by the Post Office unless it bears a address.  
(A.) good (B.) long  (C.) definite  (D.) meaningful 

(7.) No registered article will be the addressee unless he or his agent authorized in writing has signed a 
receipt for it.  

(A.) booked for  (B.) delivered to  
(C.) dispatched to  (D.) sorted for 

(8.) When a person takes delivery of an article on which any sum is due to the Post Office, he the amount 
marked upon it. 

(A.) Must pay (B.) May not 
(C.) May or may not (D.) None of the above 

(9.) A parcel re-directed to any place in India except to its original address and the substituted address is 
within the delivery area of the same post office are chargeable with further postage amounting to the prepaid 
rate.  

(A.) Half (B.) One Third (C.) One fourth (D.) Double 
(10.) Prescribed time limit for lodging of complaints relating to loss or damage to a registered or insured 
article where a claim for compensation is made is 
(A.) 3 months from the date of posting of the article. 
(B.) 2 months from the date of posting of the article. 
(C.) months from the date of posting of the article. 
(D.) 1 month from the date of posting of the article. 
(11.) If an inland registered article is received in the office of delivery in damaged condition, a notice 
should be sent to the addressee to attend the post office to take its delivery.  

(A.) On the same day (B.) By next day 
(C.) Within three days (D.) Within seven days 

(12.) Registration is obligatory in the case of 
1. Any insured article.    2. Any article bearing the word “registered."  
3. Any registered article which is re-posted after having been delivered.  
4. Any value -payable article.  

(A.) 1 & 2 are correct. (B.) 1, 2 & 3 are correct. 
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(C.) 1, 3 & 4 are correct. (D.) All 1, 2, 3 & 4 are correct. 
(13.) The examination and assessment of customs duty on inward foreign article is done by 

(A.) Customs offices. (B.) Foreign Post offices 
(C.) Excise offices (D.) Following three offices 

(14.) In the foreign post, the term “Letter Post" applies to 
(A.) Small Packets (B.) Printed papers 
(C.) Letters (D.) All Above 

(15.) When an insured foreign parcel is redirected from one country to another becomes payable.  
(A.) Fresh insurance fee (B.) Fresh registration fee 
(C.) Fresh postage fee (D.) No fees 

(16.) Maximum weight of a small packet of foreign articles should not exceed.  
(A.) 200gms.  (B.) 500gms.  (C.) 1000gms.  (D.) 2000gms. 

(17.) Foreign printed papers containing only books and pamphlets may be sent up to the weight of 
(A.) 4 kg (B.) 5 kg (C.) 6 kg (D.) 7 kg 

(18.) Weight of a foreign letter should not exceed 
(A.) 500 grams (B.) 1000 grams (C.) 2000 grams (D.) 5000 grams 

(19.) A foreign parcel insured for a value higher than the value of the contents as declared in the customs 
declaration will 
(A.) Be accepted for dispatch making entry in error book. 
(B.) Not be accepted for dispatch. 
(C.) Be accepted for dispatch after obtaining fresh insurance fee. 
(D.) Will be sent to R.L.O for disposal. 
(20.) Complaints regarding articles of letter and parcel mail in the foreign post must be submitted 
(A.) Before 1 year from the date following the day of posting 
(B.) Before 1 year and 6 months from the date following the day of posting 
(C.) Before 2 years from the date following the day of the posting 
(D.) Before 3 years from the date following the day of the posting. 
(21.) An undeliverable correspondence is returned to the country of origin and____ 
(A.) Delivered to the sender free of cost.   (B.) Returned to the R.L.O 
(C.) Delivered to the sender on payment of charges due. 
(D.) Delivered to the sender only on receipt of written request. 
(22.) ______will be refunded on loss of foreign parcel.  
(A.) Postage charges excluding insurance fee.(B.)Postage charges including insurance fee. 
(C.) Only insurance fee.         (D.) Rs.100/- 
(23.) CSI stands for 

(A.) Core System Integrator (B.) Core System Initiative 
(C.) Computer Society of India (D.) Controlled System Item 

(24.) FSI Stands for 
(A.) Floor Space Index (B.) Fast System Integrator 
(C.) Financial Services Integrator (D.) First System Integrator 

(25.) NI stands for 
(A.) National Integrator (B.) Network Integrator 
(C.) Net Integrator (D.) National Insurance 

(26.) RSI stands for 
(A.) Relative Strength Index (B.) Repetitive Strain Injury 
(C.) Rural Services Integrator (D.) Road Services of India 
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(27.) SDP stands for 
(A.) Service Delivery Platform (B.) Software Development Process 
(C.) Software Development Plan (D.) Strategic Development Plan 

(28.) HHD stands for 
(A.) Herbert Hoover Dike (B.) Hand Held Device 
(C.) Hybrid Hard Drive (D.) Heavy Hard Disc 

(29.) DCF stands for 
(A.) Date Capture Facility (B.) Data Centre Facility 
(C.) Direct Consular Filing (D.) Discounted Cash Flow 

(30.) DARPAN stands for 'Digital_____ of Rural PO for A New India'  
(A.) Addition (B.) Advancement 
(C.) Awareness (D.) Affluence 

(31.) To which part, RICT is concerned with?  
(A.) Modernizing the working of SOS (B.) Modernizing the working of BOS 
(C.) Modernizing the working of HOS (D.) Modernizing the working of DOS 

(32.) To which part 'Change Management is related to?  
(A.) To Change the counters for change will implementing IT Project 
(B.) To prepare work force for changew.r.t implementing IT Project 
(C.) To prepare Machines for changew.r.t. implementing IT Project  
(D.) To improve building infrastructure for changew.r.t. implementing IT Project. 
(33.) What is the limit of Insurance of consignments in domestic Speed post?  

(A.) Upto INR 2.00 lakh  (B.) Upto INR 50 thousand  
(C.) Upto INR 1.00 lakh  (D.) Upto INR 20 thousand 

(34.) Which of the following can be registered?  
1. Letters       2. Letter Cards/ Post cards 
3. Book and Pattern packets/Blind literature packets 4. Parcels and prepaid newspapers  

(A.) 1 only (B.) 1 and 2 (C.) 1, 2, and 3 (D.) All 1,2,3 & 4 
(35.) Minimum subsequent deposit in Savings Account should not be less than Rupees.  

(A.) 10 (B.) 20 (C.) 50 (D.) 500 
(36.) In Saving Account, Nomination is mandatory at the time of 
(A.) Opening     (B.) Subsequent Transaction 
(C.) Conversion of account to cheque account  (D.) Closure of account 
(37.) In an active EA PLI policy, (Santosh), in case of death of insurant, assignee, nominee or legal heir is 
paid full amount of sum assured with Bonus.  

(A.) Higher (B.) Accrued (C.) Double (D.) Lower 
(38.) Facilities available in PO Savings Account:  
1. Cheque Book /ATM Card     2. E-banking/mobile banking  
3. Aadhaar Seeding     4. APY/PMSBY/ PMJJBY  

(A.) 1 only (B.) 1 and 2 (C.) 1, 2 and 3 (D.) All 1, 2, 3 & 4 
(39.) Service under which collection of electricity bills, collection of taxes, collections of other bills and fee 
for the government etc. is called 

(A.) Business Post (B.) Bill Mail Service 
(C.) Retail Post (D.) Direct Post 

(40.) Service is a smart option for businesses organizations to collect their bills or other payments through 
Post Office network.  

(A.) Bill Mail Service (B.) Direct Post 
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(C.) E-Payment (D.) Business Post 
(41.) ‘My stamp' is the brand name for personalized sheets of Postage stamps of India Post. Rupees are its 
charges for customers for a sheet of 12 stamps of Rs.5/- denomination.  

(A.) 500 (B.) 300 (C.) 60 (D.) 360 
(42.) No POSB cheques for more than Rs. _____should be accepted for withdrawal at other SOLs in a day.  

(A.) 25000/ (B.) 30000/ (C.) 20000/ (D.) 50000/ 
(43.) Stamps and seals of several departments of a PO when not in use must always be 

(A.) With the MTS (B.) Kept locked. 
(C.) Kept on table. (D.) Kept on table of Treasury. 

(44.) As soon as the postmen return to office, the MO Assistant should take from them the and give receipt 
for it.  

(A.) Paid and unpaid MOs (B.) Paid MOs only 
(C.) Unpaid MOs only (D.) Void MOs only 

(45.) Preservation period for KYC forms received from various CBS Post Offices at Circle CPCs (CBS) is 
after scanning and uploading.  

(A.) 3/2 years (B.) 1 year (C.) 2 years (D.) 3 years 
(46.) What is the period of preservation of invoices of articles received from the stock depot?  

(A.) 5 years (B.) 2 years (C.) 3 years (D.) 1 year 
(47.) What is the preservation period of work papers of RMS offices & Sections?  

(A.) 12 months (B.) 18 months (C.) 24 months (D.) 30 months 
(48.) Which is not a part of a Sorting Mail Office?  

(A.) Parcel Department (B.) Registration Department 
(C.) Mail Department (D.) Money Order Department 

(49.) Copies of All Delivery bills (AV-7) should be sent to administration of the country____in case of 
receipt of information about accident to an aircraft carrying mails from this country?  
(A.) Where the accident occurred  (B.) For which the mails were dispatched 
(C.) To whom the aircraft belonged (D.) To whom the Pilot belonged 
(50.) Each office of exchange should maintain its own stock of bags like other PO or Record Office. This 
will be as per the ______and the usual time taken for the return of empty bags plus a reasonable reserve to 
meet emergency requirements.  

(A.) Average daily requirement (B.) One week's requirement 
(C.) One month's requirement (D.) Three month's requirement 

(51.) Name the place where Bhagirathi and Alakananda rivers meet and become Ganga river.  
(A.) Rudraprayag  (B.) Devprayag  
(C.) Karnprayag  (D.) Uttarkashi 

(52.) Which of the following is the longest river originating with in India?  
(A.) Brahmputra  (B.) Ganga  
(C.) Yamuna (D.) Godavari 

(53.) When did Jalianwala Bagh's massacre take place?  
(A.) 13 April, 1919 (B.) 13 March 1920 
(C.) 13 May 1919 (D.) 13 June 1919 

(54.) Article 21 of the Constitution of India Guarantees:  
(A.) Right to Speech (B.) Right to Life 
(C.) Right to Freedom (D.) None of the above 

(55.) Who among the following wrote Sanskrit Grammar?  
(A.) Kalidasa  (B.) Charak  (C.) Panini (D.) Aryabhatt 
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(56.) Term 'Chinaman' is related to which sport?  
(A.) Football (B.) Hockey 
(C.) Cricket (D.) Table Tennis 

(57.) Where and when the national anthem of India JanaGana Mana' was first sung?  
(A.) Calcutta, 1911 (B.) Calcutta, 1912 
(C.) Delhi, 1911 (D.) Mumbai, 1912 

(58.) In which of the following dance, the story theme is always taken from Mahabharata and Ramayana?  
(A.) Kuchipudi  (B.) Bhangra  
(C.) Odissi  (D.) Bharatanatyam 

(59.) ___________are the true reasons for our actions when we have something to lose or gain as a result.  
(A.) Motives (B.) Plans (C.) Relations (D.) Profits 

(60.) The word ethics stand for 
(A.) Human values     (B.) Human beliefs 
(C.) Study of right and wrong in human behavior (D.) Human attitude 
(61.) Two students appeared at an examination. One of them secured 9 marks more than the other and his 
marks was 56% of the sum of their marks. The marks obtained by them are:  

(A.) 39, 30 (B.) 41, 32 (C.) 42, 33 (D.) 43, 34 
(62.) If x% of y is 100 and y% of z is 200, then the relation between x and z is 

(A.) Z=4x (B.) Z=x/2 (C.) Z=2 (D.) Z-=x/4 
(63.) A shopkeeper has 1000kg of sugar, a portion of which he offers at 8% profit and the rest at 18% profit. 
He increases 14% in total, the amount sold at 18% profit is 

(A.) 560 kg (B.) 600kg (C.) 400kg (D.) 640 kg 
(64.) If A is greater than B by 40% and B is 20% less than c, then A:C=?  

(A.) 3:1 (B.) 3:2 (C.) 26:25 (D.) 28:25 
(65.) On a certain sum, the simple interest at the end of 25/2 years becomes 3/4 of the sum. What is the rate 
per cent per annum?  

(A.) 4% (B.) 5% (C.) 6% (D.) 8% 
(66.) Find the rate of interest when Rs.640 amounts to Rs.841 and 60paise for the period 2 year 7 month and 
15 days at a simple rate of interest 

(A.) 18% (B.) 12% (C.) 15% (D.) 10% 
(67.) The average age of a class is 15.8 yr. the average age of the boys in the class is 16.4 yr. while that of 
the girls is 15.4 yr. what is the ratio of boys to girls in the class?  

(A.) 1:2 (B.) 3:4 
(C.) 3:5 (D.) None of these 

(68.) Five years ago, the average age of A, B, C and D was 5yrs. With E joining them, now the average of 
all the five is 49 yrs. How old is E?  

(A.) 25 yrs. (B.) 40 yrs. (C.) 45 yrs. (D.) 65 yrs. 
(69.) A tire has two punctures. The first puncture alone would have made the tyre flat in 9 minutes and the 
second alone in 6 minutes. If air leaks out at a constant rate, how long does it take both the punctures together 
to make it flat?  

(A.) 16/5mins  (B.) 17/5mins  (C.) 18/5mins  (D.) 19/5mins 
(70.) Ramesh can complete a work in 12 days, working 6 hours a day. Suresh can complete the same work 
in 8 days, working 9 hours a day. If Ramesh and Suresh work together working 6 hours, in how many days 
can they complete the work?  

(A.) 6 (B.) 8 (C.) 12 (D.) 9 
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(71.) The speed of a car increases by 2kms after every one hour. If the distance travelled in the first one 
hour was 35 kms. What was the total distance travelled in 12 hours?  

(A.) 456Kms  (B.) 552Kms  (C.) 482Kms  (D.) 556Kms 
(72.) One horse start trotting from point A to B and another from B to A. They cross each other after one 
hour and the first horse reaches B, 5/6 hours before the second horse reaches A. if the distance between A and 
B is 50 Km, what is the speed of the slower horse? 

(A.) 30 Km/hour (B.) 15 Km/hour (C.) 20 Km/hour (D.) 25 Km/hour 
(73.) A rope makes 125 rounds of a cylinder with base radius 15 cm. how many time can it go round a 
cylinder with base radius 25 cm?  

(A.) 100 (B.) 75 (C.) 80 (D.) 65 
(74.) 20 Liters from a vessel completely filled up with milk is replaced by water and then again 20 liters of 
mixture is replaced by water. If 18 liters of milk is left now in the vessel what was the capacity of vessel?  

(A.) 54 liters (B.) 48 liters (C.) 50 liters (D.) 60 liters 
(75.) Simplify: 

8 8 8 8

8 8 8 8

of 
  

 

(A.) 
65

128
 (B.) 

128

65
 

(C.) 1 (D.) 8 

(76.) __________regain his original salary by? 
 (A.) 200% (B.) 150% (C.) 50% (D.) 100% 

(77.) If 4 men or 6 women can do a piece of work in 20 days, in how many days can 12 men and 8 women 
together do the same piece of work? 

 (A.) 60/13 (B.) 50/13 (C.) 60/26 (D.) 50/26 
(78.) What is the simplified value of?  

1 1 1
13 3 3

1 1 1 18
3 3 3

of

 



 

(A.) 0 (B.) 1/18 (C.) 1 (D.) 1/9 
(79.) If 4kgs of oranges or 6 kgs of apples cost Rs.600/, what sum will we have to pay for 9 Kgs of apples 
and 7 Kgs of oranges bought together?  

(A.) Rs. 2050 (B.) Rs. 1850 (C.) Rs. 2250 (D.) Rs. 2550 
(80.) A shopkeeper marked the selling price of his goods in such a way that after giving a discount of 10%, 
he gains 35%. How much % above the cost price is marked price?  

(A.) 50% (B.) 45% 
(C.) 25% (D.) None of the above 

(81.) DEF,DEF2,DE2F2, __ DE2F3 
(A.) DEF3 (B.) D3EF3 (C.) D2E3F (D.) D2E2F2 

(82.) _qr_srq_p_rs_r_p 
(A.) pqrsss  (B.) aprsss  (C.) pspasa  (D.) pspqqq 

(83.) bc_b_c_b_ccb 
(A.) cbcb (B.) bbcb  (C.) cbbc  (D.) bcbc 

(84.) G2X.J4V, M8T,?,S32P 
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(A.) N645 (B.) P16R (C.) Q16R (D.) P8S 
 
(85.) ?, YZ,DE,JK 

(A.) VU (B.) UV (C.) TU (D.) TS 
(86.) 3, 12, 27, 48, 75, 108,?  

(A.) 17 (B.) 183 (C.) 162 (D.) 192 
(87.) 3,7,16, 35, ?,153 

(A.) 84 (B.) 74 (C.) 78 (D.) 63 
(88.) 6, 5, 24, 25, 144,? 

(A.) 155 (B.) 160 (C.) 170 (D.) 175 
(89.) 12, 32, 72, 152, ?,632 

(A.) 815 (B.) 613 (C.) 515 (D.) 312 
(90.) 2, 3, 8, 63, ?  

(A.) 3900 (B.) 3636 (C.) 3968 (D.) 3988 
(91.) 1, 7, 3, 9, 6, 12, 10, 16, 15, ? 

 (A.) 18 (B.) 15 (C.) 20 (D.) 21 
(92.) 13, 21, 48, 112, ?  

(A.) 237 (B.) 280 (C.) 255 (D.) 290 
(93.) 4.5, 18, 2.25, ? , 1.6875, 33.75 

(A.) 35 (B.) 25.5 (C.) 27 (D.) 43 
(94.) 10, 67, 341, 1369, ?  

(A.) 7311 (B.) 4111 (C.) 5665 (D.) 8576 
(95.) 19, 29, 40, 44, ?  

(A.) 50 (B.) 52 (C.) 5 (D.) 48 
(96.) Select the right answers option to complete the original picture 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(97.) Select the right answers option to complete the original picture 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(98.) Select the right answers option to complete the original picture 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(99.) Select the right answers option to complete the original picture 
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(A.) 1 (B.) 2 (C.) 3 (D.) 4 

(100.) Select the right answers option to complete the original picture 

 
(A.) 1 (B.) 2 (C.) 3 (D.) 4 
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JHARKAND CIRCLE- PA/SA EXAM -2020 
ANSWER 

(1.) C (2.) A (3.) A (4.) C (5.) B 
(6.) C (7.) B (8.) A (9.) A (10.) A 
(11.) D (12.) D (13.) B (14.) D (15.) A 
(16.) C (17.) B (18.) C (19.) B (20.) A 
(21.) C (22.) A (23.) A (24.) C (25.) B 
(26.) C (27.) A (28.) B (29.) B (30.) B 
(31.) B (32.) B (33.) C (34.) D (35.) A 
(36.) A (37.) B (38.) D (39.) C (40.) C 
(41.) B (42.) A (43.) B (44.) A (45.) B 
(46.) C (47.) B (48.) D (49.) A (50.) A 
(51.) B (52.) B (53.) A (54.) B (55.) C 
(56.) C (57.) A (58.) D (59.) A (60.) C 
(61.) C (62.) C (63.) B (64.) D (65.) C 
(66.) B (67.) D (68.) C (69.) C (70.) A 
(71.) B (72.) C (73.) B (74.) C (75.) A 
(76.) D (77.) A (78.) B (79.) A (80.) A 
(81.) D (82.) C (83.) A (84.) B (85.) B 
(86.) A (87.) B (88.) D (89.) D (90.) C 
(91.) D (92.) A (93.) C (94.) B (95.) B 
(96.) B (97.) B (98.) D (99.) B (100.) B 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


